
Air Tech Order #airtech1312

Spar, Wing LE MXIIA/IIHP SN: Q80050 2

Spar, TE MXIIA/IIHP SN: Q80060 2

Rib Tip, Front, All SN: Q20250 6

Rib Tips Rear Old Style SN: Q20260 8

Bushing, Motor Mount SN: PL30380 24

Bing, Rubber Cap SN: B860-610 2

Filter, Fuel, Large SN: FU205 1

AN3-6a SN: AN3-6a 2

AN3-11a SN: AN3-11a 2

AN3-13a SN: AN3-13a 4

AN3-14a SN: AN3-14a 2

AN3-15a SN: AN3-15a 2

AN4-14 SN: AN4-14 2

AN4-16a SN: AN4-16a 6

AN4-16 SN: AN4-16 2

AN4-17 SN: AN4-17 4

AN4-20a SN: AN4-20a 2

AN4-20 SN: AN4-20 2

AN4-21a SN: AN4-21a 2

AN4-24a SN: AN4-24a 2

AN4-25 SN: AN4-25 2

AN4-26a SN: AN4-26a 2

AN4-26 SN: AN4-26 4



AN4-30a SN: AN4-30a 2

AN4-34a SN: AN4-34a 2

AN4-36 SN: AN4-36 2

Bolt, 1/4 X 1-3/4, Grd 5 SN: FS1.75Grd5 6

Bolt, 1/4 X 2-1/4, Grd 5 SN: FS2.25Grd5 4

Bolt, 1/4 X 2-3/4, Grd 5 SN: FS2.75Grd5 8

Nut, Nyloc, 3/16, Thin SN: AN364-1032 10

Nut, Nyloc, 3/16 Reg. SN: AN365-1032 20

Nut, Nyloc, 1/4 Reg. SN: AN365-428 20

Washer, Fender 3/16 SN: AN970-3 10

Washer, Fender, ¼ SN: AN970-4 10

Washer, Fender, 5/16 SN: AN970-5 5

Washer, Fender 3/8 Inch SN: AN970-6 5

Washer, 3/16 SN: AN960-10 40

Washer, ¼ SN: AN960-416 40

Cap, Tube 1" X .049,.058 SN: PL20411 2

Cap, Tube 1-5/8" X .035 SN: PL20422 2

Wing Fences, MXII, Sprint I & II, SN: AT108 1

Rib, MXIIA/IIHP SN: Q80190 1

Falcon, Altimeter, 6K NS,2-1/4 Inch SN: INAL110 1

Pod, Inst., Fiberglass, Assy SN: IN100 1

Manual, Assy. MXIIA/HP SN: Q99212 1



Pins, Cotter 1/16 X 1/2 SN: AN380-2-2 2

Pins, Cotter 1/16 X 3/4 SN: AN380-2-3 2

Pin, Clevis 3/16 Inch X 13/32 Inch SN: AN393-13 2

Pin, Clevis 3/16 Inch x 17/32 Inch SN: AN393-17 2

Pin, Clevis 3/16 Inch X 24/32 Inch SN: AN393-24 2

Pin, Clevis 3/16 Inch X 27/32 Inch SN: AN393-27 2

MX / MX II – Silver Cover SN: AT-204S 1

Tool, Fan Fixation SN: R876-357 1


